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AQA AS Biology exam practice answers

4 The lungs and lung disease

1
(a)
(i)
Inhaling: 0–2 seconds. 

[1]


(ii)
Exhaling: 2–4 seconds. 

[1]

(b)
The ventilation rate is the number of breaths per minute. One breathing cycle is 4 seconds, 
therefore 60/4 = 15 breaths per minute. 

[1]

(c)
The tidal volume is the volume of air breathed in and out with each breath which is 0.45 dm3 
(or 450 cm3). 

[1]

(d)
Pulmonary ventilation = tidal volume ( ventilation rate per minute
= 15 ( 0.45 = 6.75 dm3 

[1]
2
Chose any four explanations from:

· reduced surface area

· damaged alveoli

· thicker alveolar walls

· slower diffusion

· less oxygen

· slower respiration

· muscles short of oxygen

[4]
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